Matrices

Use the following matrices for 1-6
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CD
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B-A




4.
Find DC – Does CD = DC



5.
Find the inverse of A


6.
Find the inverse of D

(7 - 8)

Write as a matrix equation and solve.  Use your calculator.
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Trigonometry

9. 
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12.   The approximate value of 
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13.   The approximate value of 
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14.   The exact value of 
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17.   What is the length of the arc and are of the sector of a circle with radius 9 inches subtended by a central angle of
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19.   Put into words what 
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20. You are on a Ferris wheel 30 feet from the center. The Ferris wheel takes 25 seconds to make a full revolution. How fast are you moving. Put your answer in feet per second.  

21. The terminal side of 
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. Find exact value of the six trig functions of
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22. Given 
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, find the exact value of the remaining trigonometric functions of 
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.

(23 – 29)   Find the exact value of each of the following without your calculator. 

Worth 4 points each.
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(30 - 32)   Simplify
30.

[image: image29.wmf] 

s

i

n

q

c

s

c

q





31.

[image: image30.wmf] 

c

o

s

q

+

c

o

t

q

s

i

n

q


32.

[image: image31.wmf] 

s

e

c

q

s

i

n

q

-

s

i

n

q

c

o

s

q


(33-37)
Establish each identity.
33.
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35.
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38.
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(39-40)  Use the sum and difference formula’s to find the exact value of the following.
39.
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41.
Use the half angle formulas to find the exact value of
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(42-44)

Solve for θ on the interval
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45.   Write an equation of a sine wave with amplitude 3 and period
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.

46.   State the amplitude and period of
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47.   State the domain and range of
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48.   Find c.
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49.   Find a.
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50.   Find A.

51.   Find C.
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52.   A sheet of paper is 11 inches long and 8.5 inches wide. Find the dimensions (sides and angles) of the two triangles formed by cutting a sheet of paper from one corner to the opposite corner.

53.   You are sitting on a swing that is 15 feet tall. The chain holding the swing is 12 feet long. How high are you at the moment the chain forms an angle of 
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 from where it started?

(54 –56)   Graph each function.  Be sure to state the amplitude, period, phase shift, and vertical shift. Label each axis.
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57.   Write an equation for the following graph.
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Conics
(58-63)    Graph each equation.  Be sure to label all that apply to each graph:  center, vertices, foci, and slopes of asymptotes.
58.
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(65 - 66)   Write the equation of each conic section in standard form.  Do not graph.
65.
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66. 
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67.
Write the equation in standard form of a circle with center (2,5) and a point (3,3) on the circle.

68.
Write the equation in standard form of an ellipse with vertices at (4,0) and (0,-3).

Sequences and Series
69.   Write out the first 4 terms of
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70.   Find a formula for the nth term of   
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(71-72)   Write out the first 4 terms of the following recursively defined sequences.
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73.   Find
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74.   Write out the following sum.
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75.   Find the 71st term of the following arithmetic sequence.

3, 7, 11, …

(76-77)   The first term of an arithmetic sequence is -4 and the common difference is 3.

76.   A.   Find a formula for the nth term. 

B.   Find the 21st term.

77.   Find the sum of the first 21 terms.

78.   Find the sum.          5 + 11 + 17 + … + 137

79.   Find the formula for the sum of the first n terms of the following arithmetic sequence.
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80.   Determine whether the following sequence is arithmetic, geometric or neither. If sequence is arithmetic state the common difference. If it is geometric state the common ratio.
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(81-82)   The first term of a geometric sequence is 2 and the common ratio is 3.
81.   A.   Find a formula for the nth term.

B.   Find the 6th term.

82.   Find the sum of the first 6 terms.

83.   Find 
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84.   Find the following infinite sum.
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Polar and Parametric
(85-86)  Graph the following polar equations.
85.
r = 4

86.
θ = π/3

87.
r = -4cos θ


(88-90)  Convert from polar coordinates to rectangular coordinates.
88.
(4,270º)
89.
(-2,135 º)
90.
(2, 3π/4)

(91-93)  Convert from rectangular coordinates to polar coordinates.
91.
(3,0)

92.
(1,-1)

93.
(1.8,-2.1)

(94-96)  Plot the following polar coordinates.
94.
(4,270º)
95.
(-2,135 º)
96.
(2, 3π/4)

(97-99)
  Graph the following parametric equations.
97.
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98.
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100.
Suppose Jim hit a golf ball with an initial velocity of 150 feet per second at an angle of 30 degrees to the horizontal.
· Find parametric equations that describe the position of the ball as a function of time.

· How long is the golf ball in the air?

· When is the ball at its maximum height?  Determine the maximum height of the ball.

· Determine the distance the ball traveled.

· Using a graphing utility, simulate the motion of the golf ball by simultaneously graphing the equations found in part 1.

Statistics
101.   Find the mean, median, mode, and standard deviation of the following data. Round to the nearest tenth.


4, 2, 2, 6, 5, 4, 6, 2, 8, 9, 2, 4, 7, 1, 5, 9, 8, 4,3,1,6
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102.   The scores on a national test are normally distributed. The mean score is 50, with a standard deviation of 2. 

A.   What percent of the scores are between 48 and 52?

B. What percent of the scores are between 50 and 54?

103.  The life spans of a certain insect are normally distributed. The average life span is 40 days with a standard deviation of 5 days.

A.   What is the probability that one of these randomly selected insects will live over 45 days.

B. What is the probability that one of these randomly selected insects will live less than 30 days?
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